Question Bank

Find the following integrations:

(1) J-Q/?lnx dx =

(2) Prove the following reduction formula:

ijm(lnx)“ldx for m=-1.
m+1

(3) [arcsinx dx =

5) In—Sde:
J X

(7) |e*cosx dx=

) je*& dx =

(11) | xsinx dx =
.es X
13) |S—dx=
J ¥x
* 2
(15) _X+—3X;4 dx =
J  X(x+2)
17) ;‘_6 dx =
J X7 —2x
* 2
(19) Lﬁ*l dx =
J (x=D(x° +4)
* X
@) |5 o=
JeX+3e*+2

Ix’“(lnx)” dx:L
m+1

(4)

(6)

(8)

(10)
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(14)

cos(\/; ) dx =

X arcsec x dx =

xgsin(xz) dx =

x2e3% dx =

ewdx:

sin(Inx)dx =

4X +2

@) | —2"%  gx=

(x=1)(x% +1)
1
U2 —a

[ 3x2+x—2

(18) du=

o) | X122 g«

(x =1 (x% +1)
1
J XvVX+1

(22) dx =

Find the O.D.E if the G. solution isy=ae X +se*

(23) y=C;sin x +C, cos X
2

X
(24)y=Ae +BX +c X

2x

(25) y= cie”

—CcySinx

Xm+1(|nx)n



Solve the following differential equations
26) x> dx + (y+1)’dy =0

27) x> (y+1) dx +vy (x-1)dy =0

28)xy +V1+x2y =0

29) Y ' =x" -8xy+16y°

30) (x+y+2)dx+(-x—y+2)dy=0

31) (6x-8y-5) dy= (3x-4y-2) dx

2.2
32)Y(Xy +Ddx +X (L+xy +x“y“)dy =0

(33)y 3sin2x dx—gy20032xdy =0.

(34)(3x°+3xy’)dx+(3x’y — 3y*+2y)dy =0 .

(35)(2ye™ + 2xcosy)dx +(e* — x*siny)dy =0



